mean # PXL hits vs eta

<pixel hits> [

Ratio

al

=

0.95

53735

210 12 3
N

mean # PXL Layers with measurement vs eta |

<pixel layers> [

H h
Ul w ul
IIII|IIII|IIII|IIII|IIII|IIII

N

=
o

.....................................................................

.....................................................................

0.95

+w«++++++++++¥+*+++++++++++++++++++*++++++++++++++w++ :

=3

5210 12 3
n

meal

—=— DQM_original_1000evt
n # STRIP hits v

<strip hits> [

Ratio

—*— DQM_fitted4_1000evt

12

10

0.95

<strip layers>

Ratio

.....................................................................

0.95

W rrr7




	Contents
	Page 1


